1BE(7A148-1)

covo J4—ILE

g |Xo|MERIl  FEE  [>e| # | BB | BAE BERF g | X5\ tERIl  FEH EaE BEEZ
1|65 [&F 8OmH |F:#E|4#|1%+4| 930 | 900 |~| 915 1 |44 |&F EiEk~A/B)| 9.30| 850 |~| 9.00
2| 6% |BF| 80mH |FE|4fH|15E+4| 950 | 920 |~| 9.35]| 1 |35 [BF{venvsr-1z| 930 850 |~| 9.00
3|54 |&F 80mH |F:&E 34|28 +2| 1010 | 9.40 |~| 955 1 |34 |&F|vrawosr-niE| 9.30| 850 |~| 9.00
4|55 |BF 80mH |F:&E 3|25 +2| 1025 955 |~]| 10.10

5 | 4% | & F|4 x 100mR|F3%| 340|275 +2| 1045 | 10.15 [~]| 1030 | 2 | 55 |BF| E£=Bk(A) | 10.45 | 10.05 [~] 10.15
6 | 44F [BF|4 x 100mR|F:&[ 348|275 +2| 11.00 | 10.30 | ~| 1045 | 2 | 54 |&F| EEBK(B)| 10.45 | 10.05 [~]| 10.15
7| 6% [[RE|4x 100mR|F:#| 341|275 +2| 11.15 | 1045 | ~| 11.00

8 |35 |&F| 100m |F:&|4#H|15E5+4]| 11.30 | 11.00 |~| 11.15 | 3 | 4% [BF{v e~ vox-112| 11.30 | 10.40 | ~| 11.00
9 |3F |BEF| 100m |FHE|4#|17F5+4| 1145 1115 [~] 11.30

10[ 4% [&F| 100m |F>E 54|17 +3| 1200 | 11.30 |~| 11.45

11| 45F |BF| 100m |F:&E|5#|17F+3| 1220 | 11.50 [~]| 12.05

12| 54 [ZF| 800m |F:&[3#f|27F+2| 1240 | 12.10 [~ 12.25

13| 65 [&ZF| 800m |F:&E| 3#fH|27&+2| 1255 | 12.25 [~| 12.40 4% | B F| EMEBk(A/B)] 13.00 | 12.20 [~] 12.30
14| 64F [ZF| 80mH |k 13.20 | 1250 | ~| 13.05 A% | F| e ywsk-aig| 13.00 | 12.20 [~ 12.30
15[ 6% [BF 8O0mH ;‘J&H%| 13.25 | 12.55 | ~| 13.10

16|54 [ 7| somH [ 1330 | 13.00 [~ 13.15

17|55 [BF 80mH ;‘J&H%| 13.40 | 13.10 |~]| 13.25

18] 34 [ 7| 100m [ 1345 | 13.15 |~ 13.30

19(3%F [BF 100m ;‘J&H%| 1350 | 13.20 |~ 13.35

20| 4% [wF| 100m [ 1355 | 13.25 |~ 13.40

21|48 [BF] 100m [ 14.00 | 13.30 |~ 13.45 | 5 | 64F |5 F| FE=BL(A) | 14.00 | 13.20 |~ 13.30
22| 5% |ZF| 800m ;‘J&H§| 14.05 | 13.35 [~ 13.50 | 5 | 64F | F| E=BE(B) | 14.00 | 13.20 | ~| 13.30
23| 64 [ZF| 800m ;‘J&H%| 1410 | 13.40 | ~| 13.55

24| 5% [BF] 1500m [ 2m 14.15 | 13.45 |~ 14.00

25| 64F |BF| 1500m ;‘J&H%|2,%H 14.35 | 14.05 |~| 14.20

26] 4% | F|4 x 100mR| iR M| 1455 | 14.25 [ ~| 14.40

27| 4% |BEF|4 x 100mR ;‘J&H#l 15.00 | 14.30 | ~| 14.45

28| 6% [iB&]4 x 100mR|R | 15.05 | 1435 |~| 1450




2BBE (TA158- A) XS MARIZIOTEELABHBYFET

cSuy T4—ILE

g | =5 (4RI FEE || M| BEE | e BERZ g | =5 (Rl  FEHE BHta BERZ
1|55 |&F| 100m |FE SH[2%+6[ 900 | 830 ([~| 845| 1|64 |BF EMEB(A)| 900 | 820 |~| 830
2 |5F|BF 100m |FFE[5#H|2%+6| 920 | 850 |~| 9.05| 1|64 |&F EMEBKMB)| 900 [ 820|~| 830
3|64 |&F 100m |F:E|5#|2E+6] 940 | 9.10|~| 9.25| 1|54 |BF{vewrs-1iz| 900 | 820 (~| 8.30
4|65 |BF 100m |F:E|5#l|275+6[1000 | 930 |~| 945| 1|65 |BF FHAZ | 900 | 820(~| 830
5|34 [%F 800m |[%:#|3#|27F+2/10.15 | 9.45|~| 10.00

6 |3 |BEF| 800m [F:E|3#H|27F+2(10.30 | 10.00 |~ 10.15

7|4% |&F| 800m |[F:E|3#H|275+2(1045 | 10.15 | ~| 10.30

8 |44 |BF 800m |F:E| 3#8|278+2[11.00 | 10.30 [~| 1045 | 2 | 54 |&F|vvrvwsa-112| 11.00 | 10.20 [~] 10.30
9 | 5% [ZF|4 x 100mR|F:&| 341|275 +2| 11.15 | 1045 |~ 11.00

10( 54F |BF|4 x 100mR|FE| 3#8 |25 +2| 11.30 | 11.00 | ~| 11.15 | 3 | 54 | F| E1EHE(A/B)| 11.30 | 10.50 11.00
11| 645 [ZF|4 x 100mR|F:&E| 340|275 +2| 11.45 | 11.15 |~ 11.30

12| 64F |BF|4 x 100mR|F:E| 348|275 +2] 12.00 | 11.30 | ~| 11.45

13 54F |[xF| 100m [#sm| 240|375 +2( 1210 | 11.40 |~ 11.55

1455 |BF| 100m |#xm| 248|375 +2| 12.20 | 11.50 | ~| 12.05 | 4 | 64F | F|> v~ wwow-w[ 12.20 | 11.40 [~ 11.50
15 64F |[ZxF| 100m [#sm| 240|375 +2( 12.30 | 12.00 |~ 12.15

16|64 [BF| 100m |zxm| 240|375 +2|12.40 | 12.10 |~ 12.25

17| 34 [+ 800m RE5 1250 [ 12.20 [~ 12.35

18| 3% [B+¥| 800m R 13.00 | 12.30 | ~| 12.45 54 £ F| FEiEBk (A/B)] 13.00 | 12.20 | ~| 12.30
19| 54 [+ 100m RE5 13.05 | 12.35 |~| 1250 | 5 | 64F |&ZF| Fatix |13.00 [ 1220 |~ 12.30
20| 5% |BF 100m REE 13.10 | 12.40 [~| 12.55

21| 6% |[%F 100m R 13.15 | 12.45 | ~| 13.00 | 6 | 64F |BF|vvawwot-11g[ 1315 | 12.35 [~] 12.45
22| 6% |BF| 100m R 13.25 | 12.55 [~| 13.10

2345 |%&F| 800m R 13.35 | 13.05 [~| 13.20

24| 4% |BF| 800m R 13.45 | 13.15 [~] 13.30

25| 54F [&F|4 x 100mR| R 1350 | 13.20 | ~| 13.35

26|54 |BF|4 x 100mR| RB 13.55 | 13.25 [~]| 13.40

27| 64F |ZF|4 x 100mR| R 14.00 | 13.30 | ~| 13.45

28| 64 |BBF|4 x 100mR| iRB 14.05 | 13.35 [~]| 13.50






